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1.1
1.2
1.3

G.L.
G.L.
G.L.

-8.500 m
-15.000 m
-20.000 m

D W




1
1.1 G.L. -8.500 m
@
G.L. -8.500 m Ph 90.00 kN/m?
G.L. -8.500 m Ph 90.00 kN/m?
ql1=10. 000 <
Ph 90. 00
G.L.  0.000(m) G.L.  0.000(m)
G.L. -20.000(m)
)
t 2.7 (mm)
AL 39.76 (cm*/m)
ZL 46.00 (cm*/m)
IL  141.00 (cm‘/m)
o la 180.00 (N/mm?)
€)
ga
2EIL  2X2.00X10°X141.00X10°® i
qa=———= - =105.24  (kN/m%)
r 1. 750
ga: (kN/m? )
E : (KN/m? )
IL: (m*/m)
r: (m
Ph=90.00 qa=105.24 (kN/m%) OK
Ph: (KN/m?)
ga: (kN/m?)

FORUMS8



4)
0 0 (=0.01x r)
N=Phx r
=90.00x 1.750=157.50 (kN/m)
O
Mmax=Ph X r X
Ph
1__
gk
0.018
=90, 00X 1. 750 X ————  =6.41  (kN. m/m)
_ 90. 00
157. 85
N (kN/m)
Mmax : (kN_.m/m)
Ph : (kN/m?)
r : (m)
00 : (6 0 =0.01x r) (m)
gk : (gk=1.5x% ga) (kN/m?)

o¢L><N+ B L XMnax

AL 7L
_ 1.000X157. 50X 103+ 1. 000X 6. 41 X 10"
39. 76 X 10* 46. 00X 10°

ol=

=179 £ ola =180 (N/mm’) OK

oL : (N/mm? )

o La: (N/mm?)
N (N/m)

Mmax : (N.mm/m)

AL : (mm?/m)

L : (mm3/m)

o L=AL/ (AL+AH/LH)
=39.76/(39.76+0.00/0.0)=1.000

B L=IL/(IL+IH/LH)
=141.00/(141.00+0.00/0.0)=1.000

FORUMS8



1.2 G.L. -15.000 m
@
G.L. -15.000 m Ph 155.00 kN/m?
G.L. -15.000 m Ph 155.00 kN/m?
q1=10, 000 K\
Ph 155. 00
G.L.  0.000(m) G.L.  0.000(m)

G.L. -20.000(m)

)
t 2.7 (mm)
AL 39.76 (cm*/m)
ZL 46.00 (cm®/m)
IL  141.00 (cm*/m)
ola 180.00 (N/mm?)
H H 125x 125x 6% 9

AH  30.00 (cm® )
ZH 134 (cm®)
IH 839.00 (cnm*)
o Ha 180.00 (N/mm?)

FORUMS8




®3)
ga
IH 839. 00 )
ZE(ILJFE ) 2X2.00X10°X |141. 00+ 0 ) X 10
= = = 2
qa = e 418. 33 (kN/m?)
ga: (KN/m? )
E : (kN/m? )
IL: (m*/m)
IH: )
LH: (m)
r: (m
Ph=155.00 qa=418.33 (kN/m?) OK
Ph: (kN/m?)
ga: (kN/m?)
)
0 0 (=0.01x r)
N=Phx r
=155.00%x 1.750=271.25 (kN/m)
Mmax=Ph X r X .
dk
.018
=155. 00X 1. 750X =6.30 (kN.m/m)
_ 155. 00
627. 50
N (kN/m)
Mmax : (kN_.m/m)
Ph : (kN/m?)
r (m)
00 : (®d 0 =0.01x r) (m)
gk : (gk=1.5x% ga) (kN/m?)
oaLXN B LXMmax
ol= +

AL ZL

_0.726X271. 25X 10° 0. 252X6.30X 10"

+
39. 76 X 10 46. 00X 10°

IA

=84 < gla =180 (N/mm’)

OK

FORUMS8



oH

aHXN+ B HX Mmax

AH 7H
LH LH

_0.274X271. 25X 10° N 0. 748 X6.30X10°

120 = ¢gHa =210 (N/mm?)

30. 00 X 10
2.0

oL :

o lLa:

o Ha:

N (N/m)
Mmax:

AL

AH

ZL

ZH

LH

134. 00X 10°
2.0

(N/mm? )
(N/mm?)
(N/mm?)
(N/mm?)

(N.mm/m)
(mm?/m)
(mm*)
(mm3/m)
(mm°)
(m)

o L=AL/(AL+AH/LH)

=39.76/(39.76+30.00/2.0)=0.726

o H=(AH/LH)/ (AL+AH/LH)

OK

=(30.00/2.0)/(39.76+30.00/2.0)=0.274

B L=IL/(IL+1H/LH)

=141.00/(141.00+839.00/2.0)=0.252

B H=(IH/LH)/ (1L+1H/LH)

=(839.00/2.0)/(141.00+839.00/2.0)=0.748

FORUMS8



1.3 G.L. -20.000 m
@
G.L. =-20.000 m Ph 155.00 kN/m?
G.L. -20.000 m Ph 155.00 kN/m?
q1=10, 000 K\
Ph 155. 00
G.L.  0.000(m) G.L.  0.000(m)

G.L. -20.000(m)

)
t 2.7 (mm)
AL 39.76 (cm*/m)
ZL 46.00 (cm®/m)
IL  141.00 (cm*/m)
ola 180.00 (N/mm?)
H H 125x 125x 6% 9

AH  30.00 (cm® )
ZH 134 (cm®)
IH 839.00 (cnm*)
o Ha 180.00 (N/mm?)

FORUMS8




®3)
ga
IH 839. 00 )
ZE(ILJFE ) 2X2.00X10°X |141. 00+ 0 ) X 10
= = = 2
qa = e 418. 33 (kN/m?)
ga: (KN/m? )
E : (kN/m? )
IL: (m*/m)
IH: )
LH: (m)
r: (m
Ph=155.00 qa=418.33 (kN/m?) OK
Ph: (kN/m?)
ga: (kN/m?)
)
0 0 (=0.01x r)
N=Phx r
=155.00%x 1.750=271.25 (kN/m)
Mmax=Ph X r X .
dk
.018
=155. 00X 1. 750X =6.30 (kN.m/m)
_ 155. 00
627. 50
N (kN/m)
Mmax : (kN_.m/m)
Ph : (kN/m?)
r (m)
00 : (®d 0 =0.01x r) (m)
gk : (gk=1.5x% ga) (kN/m?)
oaLXN B LXMmax
ol= +

AL ZL

_0.726X271. 25X 10° 0. 252X6.30X 10"

+
39. 76 X 10 46. 00X 10°

IA

=84 < gla =180 (N/mm’)

OK

FORUMS8



oH

aHXN+ B HX Mmax

AH 7H
LH LH

_0.274X271. 25X 10° N 0. 748 X6.30X10°

120 = ¢gHa =210 (N/mm?)

30. 00 X 10
2.0

oL :

o lLa:

o Ha:

N (N/m)
Mmax:

AL

AH

ZL

ZH

LH

134. 00X 10°
2.0

(N/mm? )
(N/mm?)
(N/mm?)
(N/mm?)

(N.mm/m)
(mm?/m)
(mm*)
(mm3/m)
(mm°)
(m)

o L=AL/(AL+AH/LH)

=39.76/(39.76+30.00/2.0)=0.726

o H=(AH/LH)/ (AL+AH/LH)

OK

=(30.00/2.0)/(39.76+30.00/2.0)=0.274

B L=IL/(IL+1H/LH)

=141.00/(141.00+839.00/2.0)=0.252

B H=(IH/LH)/ (1L+1H/LH)

=(839.00/2.0)/(141.00+839.00/2.0)=0.748

FORUMS8
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